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QUESTION 1

If a scrollable cursor is INSENSITIVE, which of the following applies? 

A. The cursor is read only 

B. WITH ROWSET POSITIONING is not allowed 

C. The select-statement must not contain an SQL data change statement 

D. The cursor has sensitivity to changes that are made to the database after the result table is materialized 

Correct Answer: A 

Reference: https://www.ibm.com/support/knowledgecenter/en/SSEPEK_11.0.0/java/src/tpc/ imjcc_tjvsjscr.html 

 

QUESTION 2

Which of the following effectively and efficiently manages priorities of a mixed workload as a result of its tight integration
with DB2 for z/OS? 

A. Data Facility Storage Management 

B. z/OS Parallel Sysplex Configuration 

C. Workload Manager 

D. z Systems Processor Resource 

Correct Answer: B 

Reference: https://www.ibm.com/support/knowledgecenter/en/SSEPEK_11.0.0/intro/src/tpc/
db2z_benefitsofdb2zasserver.html 

 

QUESTION 3

The following definition for COL1 is given by this statement: 

CREATE TABLE... (COL1 BINARY (05)) 

Which of the following statements will successfully insert data into the table? 

A. INSERT INTO... (COL1) VALUES(HEX(`12345\\')); 

B. INSERT INTO... (COL1) VALUES(BLOB(`12345\\')); 

C. INSERT INTO... (COL1) VALUES(CHAR(`12345\\')); 

D. INSERT INTO... (COL1) VALUES(BINARY(`123456\\')); 

Correct Answer: C 
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QUESTION 4

Assume DELETE triggers exist on the employee table. Which of the following statements will delete all the rows in the
employee table and ignore any DELETE triggers? 

A. TRUNCATE employee; 

B. DELETE FROM employee; 

C. DELETE FROM employee WHERE...; 

D. TRUNCATE employee RESTRICT WHEN DELETE TRIGGERS; 

Correct Answer: B 

Reference: https://www.ibm.com/support/knowledgecenter/en/SSEPEK_10.0.0/sqlref/src/tpc/ db2z_sql_delete.html 

 

QUESTION 5

Which of the following locking scenarios requires the least amount of real storage in the IRLM address space? 

A. 10 row locks 

B. 200 page locks 

C. A single table space lock 

D. 6 partition locks (given a table space with a total of 10 partitions) 

Correct Answer: C 
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